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QUESTION 1

You have configured a WLAN profile on a client computer for a hidden SSID network. The SSID operates in both 2.4
GHz and 5 GHz. The profile never connects or even attempts to connect. What is the most likely configuration error in
the profile or on the computer?

A. Wrong passphrase

B. Band selection is configured for 5 GHz-only

C. Wrong SSID

D. Band selection is configured for 2.4 GHz-only

Correct Answer: C

QUESTION 2

Some APs come with a captive portal available within the AP, controller or cloud interface. For what would this captive
portal most likely be used?

A. Guest access

B. Employee access

C. Executive management access
D. Long-term contractor access

Correct Answer: A

QUESTION 3

What is a common problem in specialty Wi-Fi devices?
A. The use of 802.11 VHT-only chipsets

B. The use of older, less capable 802.11 chipsets

C. The use of 802.11 DSSS-only chipsets

D. The use of newer, more capable 802.11 chipsets

Correct Answer: B

QUESTION 4

What can occur when two copies of a signal wave arrive at the receiver at the same time, but 180 degrees out of phase
which each other?
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A. Increased signal amplitude

B. Bits may be added to the total count
C. Increased signal strength

D. Signal nulling or cancellation

Correct Answer: D

QUESTION 5

A device is a 3x2:2 device. How many spatial streams can it receive?
A.3

B.9

C.6

D.2

Correct Answer: D
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